RESOLUTION NO. 92

A RESOLUTION OF THE CITY OF UNIVERSITY PLACE, WASHINGTON, AUTHORIZING THE CITY MANAGER TO AMEND THE AGREEMENT BETWEEN UNIVERSITY PLACE REFUSE SERVICE AND THE CITY OF UNIVERSITY PLACE FOR THE COLLECTION AND DISPOSAL OF SOLID WASTE, RECYCLABLE MATERIALS, AND YARD WASTE.

WHEREAS, the City of University Place and University Place Refuse Service agreed to meet early in 1996 to complete weight schedules for different refuse container sizes;

WHEREAS, the weight schedules will facilitate the computation of customer rate increases, if increases in landfill disposal fees should occur;

WHEREAS, the weight schedules to be incorporated into the Agreement are lower than the weights reported in the Meek's Study that was commissioned by the Washington Transportation and Utilities Commission, suggesting that the weights assigned to various classes of containers in the schedules are fair; NOW THEREFORE,

BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF UNIVERSITY PLACE, WASHINGTON, AS FOLLOWS:

Section 1. <u>Authorization</u>. City Manager, or his designee, is authorized and directed to execute on behalf of the City the attached amendment to the Agreement with University Place Refuse.

Section 2. <u>Ratification and Confirmation</u>. Any acts made consistent with the authority and prior to the effective date of this resolution are ratified and confirmed.

Section 3. Effective Date. This resolution shall take effect immediately upon signing.

ADOPTED BY THE CITY COUNCIL ON MARCH 18, 1996.

Stanley L.K. Flemming, Mayo

ATTEST:

Susan Matthew, City Clerk

refuse2

AMENDMENT 01

AGREEMENT BETWEEN THE CITY OF UNIVERSITY PLACE, WASHINGTON, AND UNIVERSITY PLACE REFUSE SERVICE, INC. FOR COLLECTION AND DISPOSITION OF SOLID WASTE, RECYCLABLE MATERIALS, AND YARD WASTE

The agreement is amended by incorporating the two attached weight schedules:

Schedule of Weights for Residential Refuse Service

Schedule of Weights for Commercial Refuse Customers

These schedules will be used to compute rate adjustments for residential and commercial customers in University Place that occur as a result of any changes in landfill disposal fees, per Section 16.8 of the Agreement

University Place Refuse Service and the City of University Place agree to meet and review the schedules again during the first quarter of the year 2001.

Amendment 01 is executed as of the date of the last signature below:

CITY OF UNIVERSITY PLACE

Claudia Ellsworth, Assistant City Manager for Robert W. Jean, City Manager

Date

Approved as to Form:

Tipi Sullivan

City Attorney

Data

UNIVERSITY PLACE REFUSE SERVICE, INC.

Donald Larsen

President

Date

CITY OF UNIVERSITY PLACE

SCHEDULE OF WEIGHTS FOR RESIDENTIAL REFUSE SERVICE

					Total	Monthly	@ \$72.20/ton
			Pickups P	er Pickup	Weight	Weight C	urrent Monthly
Units (Container Size 💎 🖁	ecycle? Pe	r Month	Weight p	er Month a	s%ofaTon	disposal Cost
· 1	10 gal micro can	yes	4.333	12.53	54.29	2.71%	\$ 1.96
1	10 gal micro can	no	4.333	12.53	54.29	2.71%	1.96
1	20 gal mini can	yes	4.333	22,38	96.97	4.85%	3.50
1	20 gal mini can	no	4.333	22.38	96.97	4.85%	3.50
1	32 gal can	yes	1	30.44	30.44	1.52%	1,10
1	32 gal can	no	1	30.44	30.44	1.52%	1.10
1	32 gal can	yes	4.333	30.44	131.90	6.59%	4,76
1	32 gal can	no	4.333	30.44	131.90	6.59%	4.76
2	32 gal can	yes	4.333	45.66	197.84	9.89%	7.14
2	32 gal can	no	4.333	45 66	197.84	9.89%	7.14
3	32 gal can	yes	4.333	68.94	298.72	14.94%	10.78
3	32 gal can	no	4.333	68.94	298.72	14.94%	10.78
4	32 gal can	yes	4.333	86.84	376.28	18.81%	13.58
4	32 gal can	no	4.333	86.84	376,28	18.81%	13.58
5	32 gal can	yes	4.333	108.33	469.39	23.47%	16.95
5	32 gai can	no	4,333	108.33	469.39	23.47%	16.95
6	32 gal can	yes	4.333	129.82	562.51	28.13%	20.31
6	32 gal can	no	4.333	129.82	562.51	28.13%	20.31

CITY OF UNVERSITY PLACE

SCHEDULE OF WEIGHTS FOR COMMERCIAL REFUSE CUSTOMERS

				Total	Monthly	@ \$72.20/ton
		# Pickups P			Weight	Current Monthly
Units Conf	and the second of the second s	Per Month	Weight	per Month	as % of a Ton	disposal Cost :-
	2 gal can	4.333	22.26		4.82%	
	2 gal can	4.333	44.51	192.86	9.64%	6.96
3 3	2 gal can	4.333	66.77	289.31	14.47%	10.44
	2 gal can	4.333	89.02	385.72	19.29%	13,92
	2 gal can	4.333	111.28	482.18	24.11%	17.41
	2 gal can	4.333	133.54	578.63	28.93%	20.89
8 3	2 gal can	8.667	178.05	1,543.16	77.16%	55.71
30 3	2 gal sunken c	4.333	667.68	2,893.06	144.65%	104.44
1 yd	container	4.333	134.3	581.92	29.10%	21.01
1 yd	container	8.667	134.3	1,163.98	58.20%	42.02
1.5 yd	container	4.333	191.86	831.33	41.57%	30.01
1.5 yd	container	8.667	191.86	1,662.85	83,14%	60.03
1.5 yd	container	13	191.86	2,494.18	124.71%	90.04
1.5 yd	container	17.333	191.86	3,325.51	166.28%	120,05
1.5 yd	container	21.667	191.86	4,157.03	207.85%	150.07
2 yd	container	4.333	248.65	1,077.40	53 87%	38.89
2 yd	container	8.667	248.65	2,155.05	107.75%	77.80
2 yd	container	13	248.65	3,232.45	161.62%	116.69
2 yd	container	17.333	248.65	4,309.85	215 49%	· 155.59
2 yd	container	21.667	248.65	5,387.50	269.37%	194.49
3 yd	container	4.333	363	1,572.88	78.64%	56.78
3 yd	container	8.667	363	3,146.12	157.31%	113.57
4 yd	container	4.333	470.44	2,038.42	101.92%	73.59
4 yd	compactor	8.667	1293.91	11,214.32	560.72%	404.84
5 yd	container	8.667	557.93	4,835.58	241.78%	174,56
6 yd	container	4.333	644.65	2,793.27	139.66%	100.84
6 yd	container	8.667	644.65	5,587.18	279.36%	201.70
6 yd	container	13	644.65	8,380.45	419.02%	302.53
6 yd	compactor	8.667	1772.79	15,364.77	768.24%	554.67